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QUESTION 1

Which statement is true about Functional Tester scripts and datapools?

A. All scripts are associated with either a private or shared datapool, and a script cannot exist without a datapool
B. There are three types of datapools: private, shared and global

C. The datapool associated with a script cannot be changed once the association has been made

D. A datapool can be created while in recording mode

Correct Answer: D

QUESTION 2

Which regular expression offers a successful way to ensure the order number is a 1 to 3-digit number in the following
format? Your order number is 125.

A. Your order number is [0-9]{3}.
B. Your order number is [0-9]{3}\.
C. Your order number is [0-9{1,3}.
D. Your order number is [0-9]{1,3}\.

Correct Answer: D

QUESTION 3

In which situation is it best to use the Browser Enablement Diagnostic tool?

A. when the web browser does not launch when invoked through Functional Tester

B. when testers are trying to determine if their web browsers are compatible with Functional Tester
C. when Functional Tester is in the recording process and no HTML objects are being recognized
D. when Functional Tester is not able to launch the viewlet comparator on the HTML log

Correct Answer: C

QUESTION 4
Given the following manual verification point:

vpManual ("manuall”, "The rain in Spain", "The Rain in Spain").performTest();
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What are the results?

A. The two strings are the same, and a pass would be generated in the log
B. The two strings are different, and a fail would be generated in the log

C. The syntax is incorrect, so this would not compile

D. This will compile but the parameters are mixed up, and a fail would be recorded in the log. The correct syntax is:
vpManual ("The rain in Spain”, "The Rain in Spain”, "manuall").performTest();

Correct Answer: B

QUESTION 5

Which feature is NOT offered by the Object Map interface?

A. the ability to delete test objects that are not referenced by any scripts

B. the ability to delete scripts that do not reference any test objects in the object map
C. the ability to find all test objects not referenced by scripts

D. the ability to merge two test objects

Correct Answer: B
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